2|4

—
1. o= 2 A¥N A5 25 n=2w?
© £8h& dot= Y 2
@ o8 ATE] 1Y
® 7P 22 A4 2l
@ 97 gro|A] 7|7} & P50 Y
® i 24
2. & FAEATY 2R &2 ¥ AL
DO 3x3%x3=33
@ 2x2x2x3x3=2%x32
®atatata=a
@ axbxbxbxb=axbt
1 1
® 2Xx2%x2XTXT 2xT72
3. o T 23 x 33 x 53 9] oFTt opd A2
@® 5x 23 @ 80
@ 22 x3x5 @ 125
® 225
4. Ac Bl n(4) =17, n(B) = 35 & o,
B), n(AUB)%Z‘,*_} o}oqa}

?

A E
5.
6.
7.
8.
n(AN

o] 7‘&9} *ﬂ —4 lo]7

Ay o] A4

D 4x102+5x102+2x10+8x 1
@ 4x10* +5x102+2x10+8x 1
@ 4x10*+5x103+2x10+8x 1
@ 4x10°+5x102+2x10+8x 1

® 4x10°4+5x10°+2x10+8x 1

407} a O] FF7E 8 9] oFet TS of, o}
ol 2 & gl ALY

@ 72 ® 120

Al A"t A = {1, 2, 3,---, 10}, B
e 9RO A2 &AL C = {zv | 2 = 2 x
1, 2, 3, 4} ol ot A, B, C Atele] =

HR2 7 Lehgl 212

©CccA=B @ AcBcC
® BcAccC @ B=CcCA
® A=CcCB

o= g7 vehd

{3«“\

n,
%%l%




